[Option ID = 589]
2. Larger in size and moderately doped

3MPR 31 o 3l et 3R W fomifsera

[Option ID = 590]
3. Larger in size and lightly doped

3R I fered ik el fowpifssra

[Option ID = 591]
4. Moderate in size, heavily doped

R PR 3i2 el foafssia

[Option ID = 592]

49) The name of the first nuclear reactor constructed in India is
Rd 3 forfdfa gerar onfirbir RRracs o1 o= omar 8 ?

[Question ID = 149][Question Description = 149_23_PHY_SEP22_Q49]
1. CIRUS
2AS2A

[Option ID = 593]
2. APSARA
3IRRT

[Option ID = 594]
3. DHRUVA
ga

[Option ID = 595]
4. PURNIMA
yfofar

[Option ID = 596]

50) A message signal of 10 kHz and peak voltage of 10 V is used to modulate carrier frequency 1 MHz and peak voltage 20
V. Determine side bands produced.

10 kHz & 391 3idaa iz 10 V &l rdica dicedr o1 Iu=iet 1 MHz &bt sigfer 3iiz 20 V &t wdica dicear & ArzIcle @ fore gyep s siran
& s3A sculfea ured ds @l i $ifsig ?

[Question ID = 150][Question Description = 150_23_PHY_SEP22_Q50]
1. (1000 + 10 x 2) kHz
[Option ID = 597]
2. (1000 + 10) kHz
[Option ID = 598]
3. (1000 + 10v2) kHz
[Option ID = 599]
4. (1000 + 10) kHz

[Option ID = 600]

Topic:- PCBO1_Chemistry

1) Which one of the following is an example of adsorption?
forgarfeiRaa 3 A dlat sif2r9nvuT 1 I5IEVT 3?7

[Question ID = 151][Question Description = 101_40_CHE_SEP22_QO01]
1. Silica gel in contact with water vapours.

SIeT arca @ Auds 3 Bifetet Sier

[Option ID = 601]
2. Ammonia in contact with water.

SieT @ AU 3 eiform

[Option ID = 602]
3. Anhydrous CacCl; in presence of water vapour



Stetary bt 3uferfer 3 g CaCly

[Option ID = 603]
4. CaCOjs in contact with water

Sier & 2iues 3 CaCO3
[Option ID = 604]

2) The function of catalyst in a Chemical reaction is to
IARIfoI® 3ifdifipn d ScR® @1 ORI 3 :

[Question ID = 152][Question Description = 102_40_CHE_SEP22_Q02]
1. Reduce enthalpy of reaction

sifdifepR bt vdlctt ol aeron

[Option ID = 605]
2. Decrease rate constant of reaction

sifdtfepRm @& o1 FeRics Bl Tcton

[Option ID = 606]
3. Increase activation energy of reaction

SifdrfepRm @ iaparor Jeif B aGTol

[Option ID = 607]
4. Does not affect the equilibrium constant of a reaction

sifdrfper @ g1 BerRic o yenfdd ofdl waar

[Option ID = 608]

3) In van der waal equation, constant 'b' is introduced to compensate for:
aiszarc Ffioror # Reric 'b' o1 IwRer ------- &l sRuré o ferg fopam sirer 3

[Question ID = 153][Question Description = 103_40_CHE_SEP22_QO03]
1. force of repulsion

yferapur aect

[Option ID = 609]
2. Specific heat

faforse e

[Option ID = 610]
3. Force of attraction

3IrepHuT get

[Option ID = 611]
4. total volume occupied by molucule

MU GIRT AT SRIT el 3IRIcAol

[Option ID = 612]

4) The solution in which, the concentration of H30* remains constant even when small amounts of strong acid or strong
base are added to them. These solutions are known as:

forerret foreret H30* &bt igar R3er &t 3, sier &t Soral oSt Ay 3 gadt 33 A1 gyad &R et & sie $ot frerisil ot @al Sirar 3 :

[Question ID = 154][Question Description = 104_40_CHE_SEP22_Q04]
1. Ideal solution

argef ferIer

[Option ID = 613]
2. Colloidal solution

Dlciiss! fderror

[Option ID = 614]
3. True solution

Jrcan faerIe

[Option ID = 615]



4. Buffer solution
T3 fdcrror

[Option ID = 616]

5) Find the temperature at which K, = K_; of the given equilibrium reaction N,0,(g) = 2NO,(g)

T 10 T %X 1o W K, = K, 3R & 7S g i N, 0, (g) = 2N0,(g) B

[Question ID = 155][Question Description = 105_40_CHE_SEP22_Q05]
1. 273K

[Option ID = 617]
2. 121.8K

[Option ID = 618]
3. 12.18K

[Option ID = 619]
4. 1.218K

[Option ID = 620]

6) For a chemical reaction, CO (g} + 3H,(g) = CH,(g) + H,0(g) at equilibrium the amount of producis formed are
affected by

@ e fifFT & 0 co (g) + 3H,(g) = CH, (g) + H,0(g) TTRIERI T, 4 Id1E & 9F A41fad &rfl

[Question ID = 156][Question Description = 106_40_CHE_SEP22_Q06]
1. Temperature

a3y

[Option ID = 621]
2. Pressure

ol A

[Option ID = 622]
3. Temperature and pressure

" i gra A

[Option ID = 623]
4. Temperature, pressure and catalyst

A, oId 3 3D A
[Option ID = 624]

7) Which of the following are Intensive properties?
A. boiling point

B. entropy

C. pH

D. internal energy

forgaiferRaa 3 A ®lot s18al VT 3:

A. Tagstic

B. wocrdl

C. pH

D. staf¥e et

oiil feu are faweal 3 A Al IR ol ©

[Question ID = 157][Question Description = 107_40_CHE_SEP22_Q07]
1. A, BandD only



@aer A, B iz D

[Option ID = 625]
2. Aand Conly

Dact A iz C

[Option ID = 626]
3. Band Conly

@act B aik C

[Option ID = 627]
4. A,B,CandD

A, B, Caiz D
[Option ID = 628]

8) The rate constant of a first order reaction is k = 2.5x10"'*sec™!. Find the half-life for the reaction.
Y @ife bI i wr de1 Berics k = 2.5x10 14 sec' 3 aifiifipam &bt sref- 3Ry st Hifstg

[Question ID = 158][Question Description = 108_40_CHE_SEP22_Q08]
1. 2.77x103 sec

[Option ID = 629]
2. 2.77x10"13sec’!

[Option ID = 630]
3. 2.77x10"sec

[Option ID = 631]
4. 2.77x10 " sec™!

[Option ID = 632]

9) For the completion of 99.9% of the reaction in a first-order reaction, the time required will be how many times the half-
life of the reaction.
gad @ife &l siftifagar 3 99.9% sififcpr ®I g1 w6l @ fo1u magacd AIRT BRI DI 31g-31R] BT e 36l aPT

[Question ID = 159][Question Description = 109_40_CHE_SEP22_Q09]
1. 5 times

5 3ot

[Option ID = 633]
2. 10 times

10 3pom

[Option ID = 634]
3. 2 times

2 3ol

[Option ID = 635]
4. Time required is independent of the half-life

SMAYRID IWRI 3L -3 A I, 3
[Option ID = 636]

10) If the sum of two redox couples is positive, then the Gibbs energy change will be:
AfS <1 ISiaa SISI &I AP eellcdid 3, dl e it uf¥acde dem:

[Question ID = 160][Question Description = 110_40_CHE_SEP22_Q10]
1. Positive

Eollcdd

[Option ID = 637]
2. Negative

SBUIICHD

[Option ID = 638]
3. Neutral

3crflor



[Option ID = 639]
4. Cannot be defined

uf¥enfie ol bt o At 3
[Option ID = 640]

11) By significant changes in pressure, solubility of solids in liquids
g 3 sAecayvl uf¥ade A, aver ucrelf 3 311 &I gerorofiemr.......

[Question ID = 161][Question Description = 111_40_CHE_SEP22_Q11]
1. Increases

ool

[Option ID = 641]
2. Decreases

Tesft

[Option ID = 642]
3. Can either increase or decrease

fc T 46 A 3

[Option ID = 643]
4. Remains unaffected

smuf¥afefa 33oft
[Option ID = 644]

12) If the solubility product of Mg{OH), is 2 X 107* at 298K, then the solubility in mol /dm? at 298K s

afg 298 K T Mg(0H), F1 FEeaal T 2 x 101181 &1 298K T Reat mol /dm® H & -

[Question ID = 162][Question Description = 112_40_CHE_SEP22_Q12]
1. 248 x107* mol /dm?®

[Option ID = 645]
2. 171 % 10~* mol/dm?

[Option ID = 646]
3171 % 107% mol /dm?

[Option ID = 647]
4. 347 x10°* mol /dm?

[Option ID = 648]

13) Select the correct statement about valence band.
IFASIP I3 D aR 3 Bl DA PI <RI DI :
[Question ID = 163][Question Description = 113_40_CHE_SEP22_Q13]
1. It is the lowest energy occupied band
g AR DA Joll Alell IRT 4 8

[Option ID = 649]
2. The band may be empty or partially filled only

s arctt = 3rifors Fu A & 91T Bl Ak &

[Option ID = 650]
3. The band is formed by a series of energy levels containing valence electrons

s Il IRI DI v Il GRI Toldl & ORI IRMSID seldgiol Bl 3

[Option ID = 651]
4. The band should be completely filled always

s adton g3 @6 A IRI Sloll AIfde
[Option ID = 652]

14) What are the conditions for gas like nitric oxide to obey the ideal gas laws?



3rcof 3121 formel @I Ulctol w0l d foru s sifararss Sixl 3 @ fére o= ord 37

[Question ID = 164][Question Description = 114_40_CHE_SEP22_Q14]
1. high temperature and low pressure

3ca am 3R fower gr@

[Option ID = 653]
2. low temperature and high pressure

forgor ama 3iR 3ca gr@

[Option ID = 654]
3. low temperature and low pressure

forrol ama 3iiR forFor gra

[Option ID = 655]
4. high temperature and high pressure

3cd am 3R 3<d g1

[Option ID = 656]

15) The standard reduction potential of Ni2*|Ni, Fe3*|Fe and Ag*|Ag are -0.25 V, 0.77 V and 0.8 V respectively. The
following cells were constructed
(i) Ni|NiZ* | | Fe3*|Fe

(i) Ni[NiZ* | | Ag*|Ag
(iii) Fe| Fe3* || Ag*|Ag

What is the correct order of E°¢( of these cells?

NiZ*|Ni, Fe3*|Fe siiz Ag*| Ag ® airerad siuerrel fasa apgrer: -0.25 V, 0.77 V 3iiz 0.8 V & Reifei3ae et w1 foraior fope sri :
(i) Ni[NiZ* | | Fe3*|Fe

(i) Ni[Ni2* | | Ag*|Ag

(iii) Fe| Fe3* | | Ag*|Ag

%ol Achl D E°ce(| D1 I8 ot a=mr 37

[Question ID = 165][Question Description = 115_40_CHE_SEP22_Q15]

. (i)> (ii)> ()
[Option ID = 657]

2. (i)>(i)(>ifi)

1

[Option ID = 658]
3. (i)>(ii)>(iii)

[Option ID = 659]
4. (iii)>(i)>(i1)

[Option ID = 660]

16) In a closed-packed array of A spheres, the number of tetrahedral holes are
A sl @ forfars JAqgfera wevfl 3, agowerdbia Rfepl &bt iz akdl 3

[Question ID = 166][Question Description = 116_40_CHE_SEP22_Q16]
1. A/ 2

[Option ID = 661]
2. A

[Option ID = 662]
3. 2A

[Option ID = 663]
4. 4A

[Option ID = 664]

17) Maximum deviation from ideal gas is expected from:



sircof 3t A siférasaa foractor srafara 3 :

[Question ID = 167][Question Description = 117_40_CHE_SEP22_Q17]

1. H;

[Option ID = 665]
2. Ny

[Option ID = 666]
3. Ar

[Option ID = 667]
4. NH3

[Option ID = 668]

18) Which one the followings is thermally most stable carbonate?
forratferRaa # A dler-a1 ardlz wu A Faiftrs Ferfl oelc 37

[Question ID = 168][Question Description = 118_40_CHE_SEP22_Q18]
1. MgCOs

[Option ID = 669]
2. CaCO;

[Option ID = 670]
3. SrCOs3

[Option ID = 671]
4. BaCOs3

[Option ID = 672]

19) The magnetic properties of manganate and permanganate ion are:
Jstolc 3z URHAToIT RISl & b T 3:
[Question ID = 169][Question Description = 119_40_CHE_SEP22_Q19]
1. Both are paramagnetic
Gloll 3iofeaddi &
[Option ID = 673]
2. Both are diamagnetic
[Option ID = 674]
3. Diamagnetic and paramagnetic respectively
I9L: YferahRI 3R SIofgerbRI
[Option ID = 675]
4. Paramagnetic and diamagnetic respectively
I oJgehRI iR gferdeadbin
[Option ID = 676]

20) Magnetite is
divolerse 3!
[Question ID = 170][Question Description = 120_40_CHE_SEP22_Q20]
1. Ferromagnetic
S
[Option ID = 677]
2. Ferrimagnetic
Bgadlr
[Option ID = 678]
3. Diamagnetic
glergerebter
[Option ID = 679]
4. Paramagnetic



Srofgerber
[Option ID = 680]

21) Which of the following process is not a physical process of separation?
forraiferRaa 3 A ®ler-H yfdgzn geramur &t siifere yfepgam orél 37

[Question ID = 171][Question Description = 121_40_CHE_SEP22_Q21]
1. Hydraulic washing

gler emaor

[Option ID = 681]
2. Magnetic separation

JabRI geraamur

[Option ID = 682]
3. Leaching

forgtretot

[Option ID = 683]
4. Froth floatation

ol teTdol

[Option ID = 684]

22) Square-planar geometry is shown by:
aof J3racht Senfdifer fopardt & -

[Question ID = 172][Question Description = 122_40_CHE_SEP22_Q22]
1. [NiClg]?

[Option ID = 685]
2. Crog

[Option ID = 686]
3. MnOg4

[Option ID = 687]
4. [PtCla(NH3)2]

[Option ID = 688]

23) Which of the following pair is expected to have the same bond order?
forgoifeiRaa & A fovar SISt A JHTeT 3iraoer mife 3?7

[Question ID = 173][Question Description = 123_40_CHE_SEP22_Q23]

1. 027, Ny

[Option ID = 689]
2. O, Np*

[Option ID = 690]
3. 0", Ny

[Option ID = 691]
4. 02, N;

[Option ID = 692]

24) How many isotopes of Hydrogen found in nature?
gapie # arEgisiel @ [dbdol AIAfGID UIT SN 37

[Question ID = 174][Question Description = 124_40_CHE_SEP22_Q24]
1. 1

[Option ID = 693]
2.2

[Option ID = 694]
3.3

[Option ID = 695]
4. 4



[Option ID = 696]

25) Assertion: Intermolecular force of attraction is higher in HF than HCI.
Reason: The boiling point of HF is higher than that of HCI.

In light of the above statements, choose the most appropriate answer from the options given below

il St perel fRu 51w 31 uap Bt sifdrperet (A) 3iiR gIR @Y aas (R) @ar srI 3
sifdrperet (A) : HF 3 siar - srupes smresdur et HCI &t getent & swrer diar 8
a® (R) : HF o1 aaereticc HCI &bt geton 3 sif2re aiar 3
SWRTh DUl B 3rciled 3 forvotifepa farpedl 3 21 A8 I= goi ¢
[Question ID = 175][Question Description = 125_40_CHE_SEP22_Q25]
1. Both A and R are correct and R is the correct explanation of A

(A) 3z (R) clell 2@t & 3l (R), (A) &I &l caren &

[Option ID = 697]
2. Both A and R are correct but R is NOT the correct explanation of A

(A) stz (R) il 31t 8 udog (R), (A) & 3 wmen o8t 8

[Option ID = 698]
3. Ais correct but R is not correct

(A) 2t 8 weog (R) et ot &

[Option ID = 699]
4. Ais not correct but R is correct

(A) o o1l 3 wroq (R) 2t &
[Option ID = 700]

26) Boron shows diagonal relationship with:

di3for faauf Feier fozarar 3-
[Question ID = 176][Question Description = 126_40_CHE_SEP22_Q26]
1. Mg

[Option ID = 701]
2. Al

[Option ID = 702]
3. Si

[Option ID = 703]
4, P

[Option ID = 704]
27) The magnetic property of superoxide is/are
A. Diamagnetic
B. Paramagnetic
C. Antiferromagnetic

Choose the correct answer from the options given below:

JusiiaRarss @I gadbRI agur 3/3 ©

A. gferdadra

B. sroqdecdbRa

C. yftrciisgadia

ofid fou o1 et 3 A A8t 3T gl ¢

[Question ID = 177][Question Description = 127_40_CHE_SEP22_Q27]
1. Aonly



Dact A

[Option ID = 705]
2. Bonly

Dact B

[Option ID = 706]
3. Aand Conly

Dact A siiz C

[Option ID = 707]
4. Aand B only

Dact A iz B
[Option ID = 708]

28) Assertion: [SiFg]? is unstable but [SiClg]% is not known.
Reason: Six large fluoride ions cannot be accommodated around Si**.

In light of the above statements, choose the most appropriate answer from the options given below

oflaX S perel fRu s1e 3@ uap Bt sifdrperet (A) 3iiR gIR @Y ads (R) @ar sRI 3
sifirerst (A) : [SiFe]? arwerns dien 3 aifdper [SiCle]? et ordl 3

ads (R) : 86 a3 GARIES Rl @1 Si* @ urt AARIGE oiél Rown s arwar 3
SWTh DUl B 3rcild A forotifepa farpedl 3 A A8 = goi ¢

[Question ID = 178][Question Description = 128_40_CHE_SEP22_Q28]
1. Both A and R are correct and R is the correct explanation of A

(A) iz (R) ol 3t & 3iR (R), (A) &I 3 =z 8

[Option ID = 709]
2. Both A and R are correct but R is NOT the correct explanation of A

(A) stz (R) cloll 31t 8 udog (R), (A) & 3 wimeen o8t 8

[Option ID = 710]
3. Ais correct but R is not correct

(A) 2t 8 weog (R) et ot &

[Option ID = 711]
4. Ais not correct but R is correct

(A) ot o1l 3 wroq (R) 2t &
[Option ID = 712]

29) Consider the following:

A. [NiCl4]*

B. [Ni(CO)4]

C. [CoF¢]*

D. [Ni(CN)4]*

Choose the correct option for a spin free complex
foraifiRaa @ earor 3 T gu

A. [NiCly]*

B. [Ni(CO)4]

C. [CoF¢]*

D. [Ni(CN)4]*

Jaau! e ae B Rre 3wd Rioea o gat

[Question ID = 179][Question Description = 129_40_CHE_SEP22_Q29]
1. Aand B only



@act A ik B

[Option ID = 713]
2. BandConly

Dact B sz C

[Option ID = 714]
3. Aand Conly

Pact A siiz C

[Option ID = 715]
4. CandD only

@act C 3z D
[Option ID = 716]

30) The element with atomic number 88 belongs to
U] b 88 aretr dea Adiia &-

[Question ID = 180][Question Description = 130_40_CHE_SEP22_Q30]
1. s - block

S - sciid

[Option ID = 717]
2. p- block

p - ociid

[Option ID = 718]
3. d- block

d - wcifo

[Option ID = 719]
4. f- block

f- i

[Option ID = 720]

31) Which of the following pair has similar radii?
forgaiferRaa 3 2 fop1 SISt 3 Jemmal o 8 ?

[Question ID = 181][Question Description = 131_40_CHE_SEP22_Q31]
1. Scand V

Sc 3V

[Option ID = 721]
2. Coand Ni

Co 3t Ni

[Option ID = 722]
3. Feand Ti

Fe sl Ti

[Option ID = 723]
4. CeandYb

Ce sz Yb
[Option ID = 724]

32) On considering the following:
A. Helium

B. Neon

C. Argon

C. Xenon

Choose the correct option for gas(es) is used in diving apparatus



forFoiferRaa oY earot 3 gu

A. &iferan
B. forifor
C. amofax
D. Sficifer
SIARAIS JUDBVT F Ferier B archt 3121/31A1 & forg w1l frveu ot ot :

[Question ID = 182][Question Description = 132_40_CHE_SEP22_Q32]

1. Aonly
Dact A

[Option ID = 725]
2. Bonly

Dact B

[Option ID = 726]
3. Aand B only

Dact A iz B

[Option ID = 727]
4. Donly

Dact D

[Option ID = 728]

33) In the reaction of ammonia with chlorine, nitrogen trichloride is formed as one of the product when:
aretidiol & ATer riforR bt ifdfepRI 3, NSCISIel CIEadRIES UMb IcUIG & WU 3 Joldl & Sid-

[Question ID = 183][Question Description = 133_40_CHE_SEP22_Q33]
1. Ammonia is in excess.

SraiforRI 3iferdsar 3 aredt 3

[Option ID = 729]
2. Chlorine is in excess.

aciidiol siférpar 3t Bt 3

[Option ID = 730]
3. Ammonia is in low concentration.

SrllferRI et Aigar 3t Btk 3

[Option ID = 731]
4. Chlorine is in low concentration.

acitStol e JAigar 3 Acdt 3
[Option ID = 732]

34) Neutrons were emitted on bombarding beryllium sheet by
qfsferar di arey us........... Dl JHACIE DID oYgfol IcAfoid g oft

[Question ID = 184][Question Description = 134_40_CHE_SEP22_Q34]
1. o-rays

o fepauit

[Option ID = 733]
2. UV-rays

UV - fapauit

[Option ID = 734]
3. Visible rays

9% fdp2uil

[Option ID = 735]



4. IR rays
IR fepuit

[Option ID = 736]

35) Which of the following undergoes nucleophilic substitution reaction exclusively by SN' mechanism?
RrsifiBaa 3 A wiet RGN ¥u A snfdrmeh yferrenuo sififpzn SN Rpznfrelt grer Sar 32

[Question ID = 185][Question Description = 135_40_CHE_SEP22_Q35]
1. Ethyl chloride

fereT TelRss

[Option ID = 737]
2. Cyclohexyl chloride

JMsTCIBRICT TelRES

[Option ID = 738]
3. Isopropyl chloride

SSAYUIST TARES

[Option ID = 739]
4. Benzyl chloride

AfSIcT aciIss
[Option ID = 740]

36) Forthe given reaction:-

CH;
HaC (IJH;CH3 Mo,03 )
Hzc\G,Cﬁ 773k 10-20atm _ . suct
Hy CHs (major product)
i
21 7S T S e
CH;
4 _CH
Hz(l: (T-:H2 3 M0203 .
Hzc\C,Cﬁ 773k 10-20atm z
H, CHs (S 9)
bl g

[Question ID = 186][Question Description = 136_40_CHE_SEP22_Q36]

CH;
O

[Option ID = 741]

CH,
U

[Option ID = 742]

O

[Option ID = 743]

[Option ID = 744]



37) The set of extra elements that can be detected by Lassaigne’s tests are:
siferfeep acdl @I Ac PR dA-udgull GRI Udr cPIRIT ST JADAT 3:

[Question ID = 187][Question Description = 137_40_CHE_SEP22_Q37]
1. Nitrogen, Sulphur, Bromine and Silicon

olslslal, Acw2, qatter 3ii Bifctaior

[Option ID = 745]
2. Nitrogen, Aluminium, Bromine and Silicon

oIS lStol, Ucfiformi, qeftor alte Riferfor

[Option ID = 746]
3. Nitrogen, Sulphur, Bromine and Phospohorus

olIsgIolol, AW, aftel 3R BRWIZA

[Option ID = 747]
4. Sulphur, Boron, lodine and Silicon

ewe, didfel, aRidler diie Biftrastor

[Option ID = 748]

38) Which of the following reaction is used to prepare Freon 12?
forgatfeiRae 3t A fopar sifdrfepRr o1 SURNET W 3ifor 12 @ doirel A fsem ST 3?7

[Question ID = 188][Question Description = 138_40_CHE_SEP22_Q38]
1. Wurtz reaction

gdot aifdriapar

[Option ID = 749]
2. Free radical halogenation

D FHCID SciloloffuT

[Option ID = 750]
3. Fittig reaction

fbfeer aifdRe

[Option ID = 751]
4. Swartz reaction

et g
[Option ID = 752]

39) Which of the following is incorrect reaction?
forgatfeiRae 3t A wlor i sifdrfep=m srcre 3 ?
[Question ID = 189][Question Description = 139_40_CHE_SEP22_Q39]

|
@ Na,Cr,0, O
HgSOq

0
[Option ID = 753]
2. Na
CH.CH,OH — CH,CH,ONa
[Option ID = 754]
CHO

3. CO,H,$ =
o
Anhyd, AICl; /CuCl

[Option ID = 755]



ocl HO

4. H,
_

Pd-BaS0s4
[Option ID = 756]

40) Select the correct statement

forgarfeiRaa sifdrfepem & :
Br
L AN
Main Product

Br )]
/\/K _OH _ A~
THG 3cdTa

[Question ID = 190][Question Description = 140_40_CHE_SEP22_Q40]

1. Hydroxide ion is a base
BISSIARISS 3ROl U &Ik 3

[Option ID = 757]
2. Hydroxide ion is a nucleophile

BISSIARAISS 3IRI6l UD ollfdrpmell 3

[Option ID = 758]
3. Itis a nucleophillic addition reaction

15 U olfdrp2relt Merer sifdifepem 2

[Option ID = 759]
4. It is a nucleophillic substitution reaction

g U olfdipmell yferenyer sififepzn 3
[Option ID = 760]

41) One mole of propyl acetate on treatment with an excess of LiAlH4 in dry diethyl ether followed by acidification gives:
qiftrer wfiee @1 v dler v S15uferer $erR 3 LiAlHy4 &t siffrasar & amer sifiifdpar @2ret & g sreetla=ur uR 3ar -

[Question ID = 191][Question Description = 141_40_CHE_SEP22_Q41]
1. 1 mole acetic acid + 1 mole ethyl alcohol

1 dlet DRI 3@t + 1 et vidicr vedIdicr

[Option ID = 761]
2. 1 mole ethyl alcohol + 1 mole methyl alcohol

1 et oféreT Beidict + 1 AleT AfereT Temlidic

[Option ID = 762]
3. 2 moles of ethyl alcohol

2 et uférer vepisier

[Option ID = 763]
4. 1 mole of propyl alcohol + 1 mole of ethyl alcohol

1 airer Qiftier Yeadigfer + 1 aiver efdicr Yeaidicr
[Option ID = 764]



42) For the given reaction,

OH
dil. HNO;

-

‘A’ and ‘B’ can be conveniently/ easily separated by

&g sfufm F

OH
dil. HNO;

-

T = B o Y s o e ! [w O =T [ s o [

A+ B

A+ B

[Question ID = 192][Question Description = 142_40_CHE_SEP22_Q42]

1. Fractional crystallization
yarsl fepzeetor

[Option ID = 765]
2. Steam distillation

HIT 3M>Adol

[Option ID = 766]
3. Solvent extraction

forcTRI forsapfur

[Option ID = 767]
4. Sublimation

JHEAuldol

[Option ID = 768]

43)

CHO
o -
For the given reaction:

The structure of major product "A' is:

g afifpm

CHO
o+

TG TR A B EREA 8-

dil. NaOH

- =

dil. NaOH

—_—_— -

203K

A

[Question ID = 193][Question Description = 143_40_CHE_SEP22_Q43]

0
O Il
o
1. @)A\CHE/ \©
[Option ID = 769]
)
2.
3

[Option ID = 770]



O
HOAA®
[Option ID = 771]
CHj4

o]
4.
[Option ID = 772]
44) Correct term for pKy, for the following reaction is:

Frefofas afufisa 3 R pi, % e w8t sl &

+
H,O + NH, NH, + HO"
[Question ID = 194][Question Description = 144_40_CHE_SEP22_Q44]
[H0] [N |
1. pKy=log =
[ NH, || OH |

[Option ID = 773_]
[OH || Rry]

2. pKy=log
[ NH;|[ B,0]

[Option ID = 774]
[120] s |

3. pKy=-log

+

[NH, || o1 |

[Option ID = 775]

[Option ID = 776]

45) Match List | with List Il

List | List Il

i. Vitamin Bq2 a. Beri beri

ii. Vitamin B4 b. Cheilosis

iii. Vitamin B2 c. Convulsions

iv. Vitamin B¢ d. Pernicious anemia

Select the correct options:

et | Bt 2l 1l 3 g oo

oxe -1 et -l

i. fererfdrer Bz A. 3% - af

ii. frerfirer B+ B. fecifRra

iii. frerfder B, C. RIS usell

iv. faeifdrer Bg D. gumeft Fwbreudr

oif<l feu are famedl 3 A A8 3R gforue :



[Question ID = 195][Question Description = 145_40_CHE_SEP22_Q45]
1. i-A,ii-B,iii-C,iv-D

[Option ID = 777]
2. i-B,ii-A,iii-Civ-D

[Option ID = 778]
3. i-C,ii-D,iii-A, iv-B

[Option ID = 779]
4.i-D,ii-A,iii-B,iv-C

[Option ID = 780]

46) Select the incorrect chemical reaction
STcId AIRARITID IR DI ol :
[Question ID = 196][Question Description = 146_40_CHE_SEP22_Q46]

. @ KMn0, — H,S0, LOOH
5 > COOH

[Option ID = 781]

Tollen's
2. CH3;CH,CHQ —— CH;CH,CHCOOH
reagent

[Option ID = 782]

NaOH+ CaO
—»

3+ CHLCOONa CHy

A
[Option ID = 783]
4 Ho0
" C;H5C00COCH; — 2CH3;CO0H

[Option ID = 784]

47) Which of the following monomers are unsuitable for condensation polymerization?
forgotferi¥ad 3 A Dol A TDCIP IHdolol TEIDIDUT D 18 U 37
[Question ID = 197][Question Description = 147_40_CHE_SEP22_Q47]
1. Ethanoic acid and propanol
wlolls® 3T 3R Yileifel

[Option ID = 785]
2. Hexane-dioic acid and ethylene glycol

SFol-ST53NsD 3T 3M uldcfier semsaler

[Option ID = 786]
3. Hexane-dioic acid and ethylenediamine

SRol-ST3MED 3wl 3R vliclorsEdiie

[Option ID = 787]
4. Hydroxyacids

[ESiceikieat
[Option ID = 788]

48) Which of the following is a secondary pollutant?

foreat 3 A ol fGedRIP ygud 3?7

[Question ID = 198][Question Description = 148_40_CHE_SEP22_Q48]
1. N2O

[Option ID = 789]
2. PAN

[Option ID = 790]
3. 50,

[Option ID = 791]



4, COy
[Option ID = 792]

49) The green solvent which replaces hazardous tetrachloroethane for dry cleaning purpose is
forsler grem @ 3Z9A A WD TIaciRIzAel bl SPIE clol drcll 33 fcRID 3-

[Question ID = 199][Question Description = 149_40_CHE_SEP22_Q49]
1. Isopropyl alcohol

3EAMIfUeT vedbafet

[Option ID = 793]
2. Hydrogen peroxide

BIsSlolol WIAASS

[Option ID = 794]
3. Acetone

Bafictor

[Option ID = 795]
4. Liquefied carbon dioxide

Refiayx Prdel swEsifdiss

[Option ID = 796]

50) Example of gaseous air pollutants from the following is:
forgotferfiaa 3t A Sifi~r ary ygud @1 I 3-

[Question ID = 200][Question Description = 150_40_CHE_SEP22_Q50]
1. Hydrocarbons

BISSIDIdol

[Option ID = 797]
2. Fumes

fagii

[Option ID = 798]
3. Mist

g
[Option ID = 799]
4. Smog

YHA-DIBA
[Option ID = 800]

Topic:- PCBO1_Biology

1) Biodiversity

A. Decreases from equator to polar regions

B. The area with very few plant and animal species with threatened species are called hotspots
C. Increases from higher altitudes to lower altitudes

D. Depletion of genetic diversity of crop plants is mainly due to introduction of better varities with high yeild, decrease
resistance etc.

E. Increases from tropical forests to temperate forests

Choose the correct answer from the options given below:

Sta fafererar
A. sgre Y A gdia gl 3 Sia fafeerar ac siedl 3 |
B. aga oa ulell iz Stota?l & gonferil & Arer 2aa? arcll geuferil ard iq @1 icedic war it 3|



